
 

 

 

Environmental 

Product  

Declaration 
According to ISO 14025 and EN15804:2012+A1:2013  for: 

 

SAND 20, SAND 28, SAND A55 P600, 

SAND 153/870, SAND 105/1100 and 

SANDfuture 575        of 

 
 

 

Programme: The International EPD® System, www.environdec.com 

Programme operator: EPD International AB 

EPD registration number: S-P-02159 

Publication date: 2020-08 -10  

Valid until: 2025 -08-03  

 

  

http://www.environdec.com/


 
 

 

 

 

Programme information 
 

Programme: 

The International EPD® System 
 
EPD International AB 
Box 210 60  
SE-100 31 Stockholm 
Sweden 
 
www.environdec.com 
info@environdec.com 

 

Product category rules (PCR): PCR CONSTRUCTION PRODUCTS AND CONSTRUCTION 

SERVICES, 2012:01, VERSION 2.32”, valid until 31/12/2020. 

PCR review was conducted by: Martin Erlandsson, IVL Swedish Environmental Research Institute, 

martin.erlandsson@ivl.se 

Independent third-party verification of the declaration and data, according to ISO 14025:2006: 

 

☐ EPD process certification ☒ EPD verification 

Third party verifier: Certiquality srl  

 

In case of accredited certification bodies: 

Approved by: Accredia, certificate n. 003H 

 

 

Procedure for follow-up of data during EPD validity involves third party verifier: 

 

☐ Yes ☒ No 

 

The EPD owner has the sole ownership, liability, and responsibility for the EPD. EPDs within 

the same product category but from different programmes may not be comparable. EPDs of 

construction products may not be comparable if they do not comply with EN 15804. 

 

  

http://www.environdec.com/


 
 

 

 

 

Company information: 
Owner of the EPD: Sandrini Metalli Spa, Via Palmiro Togliatti, 18A, 24062 Costa Volpino BG. 

Tel: +39 035 970435, mail: info@sandrinimetalli.it 

 

Description of the organisation: 

The history of Sandrini Metalli begins when in the 1950s, Nazareno Sandrini started the metal production 

and processing business. Currently the production is transformed into two production plants, the 

historical one in Costa Volpino (BG) and the more recent one in Chiari (BS); in these locations are 

produced: 

 • metal sheets for roofing and cladding (Costa Volpino plant)  

 • metal sheets for dry and collaborative structural floors (Costa Volpino plant) 

 • metal sheets system for large spans (Chiari plant) 

 • metal roofs with drainage joint (Chiari plant). 

 

Moreover, the company deals with the processing and marketing of metal coils and tapes at the branch 

of Piancamuno (BS) 

 

Company or product certifications: the company has the following quality and product certifications: 

• Quality management system according to ISO 9001:2015 

(TUV certificate nr. 50 100 14090 - Rev.02) 

• Factory production control compliance certification according to EN 1090 

(TUV certificate nr. 0948-CPR-0424) 

• Accreditation as Grecate Sheet Metal Processing Centre at the Central Technical Service of the 

Board of Governors of the LLPP (Certificate nr. 1437/11) 

 

Name and location of production site:  

 Costa Volpino plant, Via Palmiro Togliatti, 18A, 24062 Costa Volpino (BG) 

 Chiari plant, Via Roccafranca, 13, 25032 Chiari BS 

 

Product information 
The analyzed products are roofing sheets, with code CPC 42190 Other structures (except prefabricated 

buildings) and parts of structures, of iron, steel or aluminium; plates, rods, angles, shapes, sections, 

profiles, tubes and the like, prepared for use in structures, of iron, steel or aluminium; props and similar 

equipment for scaffolding, shuttering or pitpropping. 

 

The products analysed are among the most representative of the company’s productions and they are: 

 

Family Product Material 

Metal sheets for roofs and facades SAND 20 Natural aluminium 

SAND 28 Prepainted steel 

Metal sheets for dry and collaborating structural floors SAND A55 P600 Galvanized steel 

Structural metal sheets for large span SAND 153/870 Galvanized steel 

Structural metal sheets for large span SAND 105/1100 Prepainted steel 

Metal roofs with drainage joint SANDfuture 575 Prepainted aluminium 

Table 1 Products analysed 

 



 
 

 

 

 

Product Picture Thickness 
mm 

Statistical data Weight 
kg/m2 

SAND 20 
Natural aluminium 
 

 

0,70 Jy (cm4/m): 4,86 
 
We inf (cm3/m): 
4,86 
 
We sup (cm3/m): 
4,86 

2,33 

SAND 28 
Prepainted steel 

 

0,70 Jy (cm4/m): 10,70 
 
We inf (cm3/m): 
7,08 
 
We sup (cm3/m): 
7,08 

6,80 

SAND A55 P600 
Galvanized steel 

 

0,80 Jy (cm4/m): 60,12 
 
We inf (cm3/m): 
21,86 
 
We sup (cm3/m): 
21,86 

10,47 

SAND 153/870 
Galvanized steel 

 

0,80 Jy (cm4/m): 389,45 
 
We inf (cm3/m): 
60,83 
 
We sup (cm3/m): 
42,94 

10,83 

SAND 105/1100 
Prepainted steel 

 

1 Jy (cm4/m): 180,23 
 
We inf (cm3/m): 
27,13 
 
We sup (cm3/m): 
57,38 

10,70 

SANDfuture 575 
Prepainted aluminium 

 

0,7 Jy (cm4/m): 8,46 
 
We inf (cm3/m): 
1,72 
 
We sup (cm3/m): 
2,44 

2,47 

Table 2 Main characteristics of the products 



 
 

 

 

 

The catalogues of company products with technical features are downloadable from the web site 
www.sandrinimetalli.it 
 
Geographical scope: Europe 
 

 

LCA information 

Declared unit: 1 m2 of sheet 

 

Time representativeness: the data refer to the year 2019 

 

Database e software LCA used: Ecoinvent database v.3.5 Allocation cut off by classification, Sima pro 

v. 9.0.  

 

System boundaries: the studio is from cradle to customer gate, from "cradle to gate with option" also 

recompiling the optional stage of downstream A4. 

The study covers the phases of extraction of resources, production of raw materials, their transport to 

plants, the subsequent processing carried out by the organization and then the packaging and 

transport of the finished products to the gate of the customer. 

 

 

 
Figure 1: System boundaries 

 

 

 

The phases considered are indicated by X: 

A1 

Upstream

• A1 Raw material

• Production of coils and relative pre-emption (galvanizing, pre-coating,etc)

• Production of SANDnodrip membrane

• Production of energy vectors (elecrticity and natural gas)

A2-A3

Core

• A2 Trasports

• Trasport of coils and raw material

• A3 Production

• Processing of sheets

• Production of packaging

• Production auxiliary materials

• Trasport and disposal of plant waste

A4

Downstream

• A4 Product transport

• Product transport to the clients



 
 

 

 

 

Product stage 
Construction 

process 
stage 

Use stage End of life stage 
Resource 
recovery 

stage 

R
a
w

 m
a

te
ri
a

ls
 

T
ra

n
s
p
o
rt

 

M
a

n
u
fa

c
tu

ri
n

g
 

T
ra

n
s
p
o
rt

 

C
o
n
s
tr

u
c
ti
o

n
 i
n
s
ta

lla
ti
o

n
 

U
s
e
 

M
a

in
te

n
a
n
c
e
 

R
e
p
a
ir
 

R
e
p
la

c
e
m

e
n
t 

R
e
fu

rb
is

h
m

e
n
t 

O
p
e
ra

ti
o

n
a
l 
e
n
e
rg

y
 u

s
e
 

O
p
e
ra

ti
o

n
a
l 
w

a
te

r 
u
s
e
 

D
e
-c

o
n
s
tr

u
c
ti
o

n
 d

e
m

o
lit

io
n
 

T
ra

n
s
p
o
rt

 

W
a
s
te

 p
ro

c
e
s
s
in

g
 

D
is

p
o
s
a
l 

R
e
u
s
e
-R

e
c
o
v
e
ry

-
R

e
c
y
c
lin

g
-p

o
te

n
ti
a

l 

 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 
X X X X MND MND MND MND MND MND MND MND MND MND MND MND MND 

Table 3 Life cycle stages considered 

The production of equipment and buildings with a life of more than 3 years and the mobility of 

employees are not considered within the boundaries of the system. 

 

 

 

More information 

For the modelling of the coils purchased, specific information was collected from the main suppliers 

about recycled content, energy mix of the production area, production technology. 

A steel supplier has also developed the EPD of its coils, from which data for this study were derived. 

 

A cut-off of 1% was used; an allocation was made on the basis of surface processed on the plant’s 

energy consumption, as it was not significant. 

 

 

 

The study was carried out by e3 - associated consultancy study, www.ecubo.it 

  



 
 

 

 

 

Content declaration 
 

Product analysed Composition 

SAND 20  Natural aluminium, complies with UNI 485-2 / UNI 573-3 
 

SAND 28  Galvanized steel complies with UNI 10346 (coating nature: 

Z100) with polyester coating 25/17 m 
 

SAND A55 P600 Galvanized steel complies with UNI 10346 (coating nature: 
Z100)  

SAND 153/870 Galvanized steel complies with UNI 10346 (coating nature: 
Z140)  

SAND 105/1100 Galvanized steel complies with UNI 10346 (coating nature: 

Z140) with polyester coating 25/17 m 
 

SANDfuture 575 Prepainted aluminium, complies with UNI 485-2 / UNI 573-3 

Polyester coating 25/17 m 
 

Table 4 Content declaration 

 

The analysis includes the application of the Sandnodrip membrane, in PES (polytersulfone), with a 

weight of 75 g/m2. 

SVHC substances according to Reg. REACH are not present in the products in a percentage higher 

than 0.1%. 

 

 

Packaging 
The packaging, which varies according to the products analysed, includes: 

• PVC plastic protector 

• elements of wood 

• polystyrene or polyethylene elements 

• supports in polypropylene 



 
 

 

   
 PAGE 8/22 

 

Environmental performance 
 

Potential environmental impact 

 

SAND 20 in natural aluminium, thickness 0,7 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Global warming potential 
(GWP) 

kg CO2 eq. 11,6 8,94E-02 2,15E-01 6,58E-02 12,0 

Depletion potential of the 
stratospheric ozone layer  
(ODP) 

kg CFC 11 
eq. 

5,40E-07 1,73E-08 6,13E-09 1,27E-08 5,77E-07 

Acidification potential (AP) kg SO2 eq. 6,98E-02 3,51E-04 6,32E-04 2,60E-04 7,10E-02 

Eutrophication potential (EP) 
kg PO4

3- 
eq. 

2,36E-02 8,19E-05 1,83E-04 6,04E-05 2,40E-02 

Formation potential of 
tropospheric ozone (POCP) 

kg C2H4 eq. 4,24E-03 1,46E-05 6,89E-05 1,08E-05 4,33E-03 

Abiotic depletion potential– 
Elements 

kg Sb eq. 7,57E-05 1,69E-07 9,79E-08 1,24E-07 7,61E-05 

Abiotic depletion potential – 
Fossil resources 

MJ 120 1,42 3,82 1,04 126 

 Table 5 Environmental impact of SAND 20 in natural aluminium 

 

SAND 28 in prepainted steel, spessore 0,7 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Global warming potential 
(GWP) 

kg CO2 eq. 19,4 2,10E-01 2,48E-01 1,94E-01 20,1 

Depletion potential of the 
stratospheric ozone layer 
(ODP) 

kg CFC 11 
eq. 

1,62E-06 4,00E-08 8,36E-09 3,74E-08 1,70E-06 

Acidification potential (AP) kg SO2 eq. 1,91E-01 1,16E-03 7,89E-04 7,65E-04 1,94E-01 

Eutrophication potential (EP) 
kg PO4

3- 
eq. 

5,19E-02 2,17E-04 2,32E-04 1,78E-04 5,30E-02 

Formation potential of 
tropospheric ozone (POCP) 

kg C2H4 eq. 7,05E-03 4,44E-05 9,44E-05 3,18E-05 7,22E-03 

Abiotic depletion potential – 
Elements 

kg Sb eq. 3,19E-03 3,64E-07 1,59E-07 3,65E-07 3,19E-03 

Abiotic depletion potential – 
Fossil resources 

MJ 235 3,28 4,33 3,06 246 

Table 6 Environmental impact of SAND 28 in prepainted steel 

 

 



 
 

 

   
 PAGE 9/22 

 

SAND A55 P600 in galvanized steel, thickness 0,8 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Global warming potential 
(GWP) 

kg CO2 eq. 24,4 2,95E-01 2,65E-01 3,47E-01 25,3 

Depletion potential of the 
stratospheric ozone layer 
(ODP) 

kg CFC 11 
eq. 

1,54E-06 5,72E-08 8,45E-09 6,72E-08 1,68E-06 

Acidification potential (AP) kg SO2 eq. 2,70E-01 1,16E-03 8,38E-04 1,37E-03 2,73E-01 

Eutrophication potential (EP) 
kg PO4

3- 
eq. 

8,06E-02 2,70E-04 2,62E-04 3,18E-04 8,14E-02 

Formation potential of 
tropospheric ozone (POCP) 

kg C2H4 eq. 1,06E-02 4,83E-05 4,66E-05 5,69E-05 1,08E-02 

Abiotic depletion potential – 
Elements 

kg Sb eq. 4,60E-03 5,58E-07 1,69E-07 6,55E-07 4,60E-03 

Abiotic depletion potential – 
Fossil resources 

MJ 276 4,68 4,62 5,50 291 

Table 7 Environmental impact of SAND A55P600 in galvanized steel 

 

SAND 153/870 in galvanized steel, thickness 0,8 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Global warming potential 
(GWP) 

kg CO2 eq. 27,1 2,64E-01 5,17E-02 1,88E-01 27,6 

Depletion potential of the 
stratospheric ozone layer 
(ODP) 

kg CFC 11 
eq. 

1,78E-06 5,11E-08 5,14E-09 3,64E-08 1,87E-06 

Acidification potential (AP) kg SO2 eq. 3,64E-01 1,04E-03 2,73E-04 7,39E-04 3,66E-01 

Eutrophication potential (EP) 
kg PO4

3- 
eq. 

1,05E-01 2,42E-04 1,05E-04 1,72E-04 1,05E-01 

Formation potential of 
tropospheric ozone (POCP) 

kg C2H4 eq. 1,15E-02 4,31E-05 1,87E-05 3,08E-05 1,16E-02 

Abiotic depletion potential – 
Elements 

kg Sb eq. 6,61E-03 4,98E-07 1,92E-07 3,56E-07 6,61E-03 

Abiotic depletion potential – 
Fossil resources 

MJ 308 4,18 6,83E-01 2,98 316 

Table 8 Environmental impact of SAND 153/870 in galvanized steel 

 

  



 
 

 

   
 PAGE 10/22 

 

SAND 105/1100 in prepainted steel, thickness 1 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Global warming potential 
(GWP) 

kg CO2 eq. 25,3 2,60E-01 5,11E-02 1,86E-01 25,8 

Depletion potential of the 
stratospheric ozone layer 
(ODP) 

kg CFC 11 
eq. 

1,60E-06 5,03E-08 5,09E-09 3,60E-08 1,70E-06 

Acidification potential (AP) kg SO2 eq. 3,02E-01 1,02E-03 2,70E-04 7,30E-04 3,04E-01 

Eutrophication potential (EP) 
kg PO4

3- 
eq. 

8,88E-02 2,38E-04 1,04E-04 1,70E-04 8,93E-02 

Formation potential of 
tropospheric ozone (POCP) 

kg C2H4 eq. 1,09E-02 4,25E-05 1,85E-05 3,04E-05 1,10E-02 

Abiotic depletion potential – 
Elements 

kg Sb eq. 5,30E-03 4,91E-07 1,90E-07 3,52E-07 5,30E-03 

Abiotic depletion potential – 
Fossil resources 

MJ 285 4,11 6,76E-01 2,95E+00 292 

Table 9 Environmental impact of SAND 105/1100 in prepainted steel 

 

SANDfuture 575 in prepainted aluminium, thickness 0,7 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Potenziale di Global 
warming (GWP) 

kg CO2 eq. 18,5 3,20E-01 3,89E-01 5,37E-02 19,2 

Depletion potential of the 
stratospheric ozone layer 
(ODP) 

kg CFC 11 
eq. 

1,09E-06 6,18E-08 2,53E-08 1,04E-08 1,18E-06 

Acidification potential (AP) kg SO2 eq. 1,00E-01 1,25E-03 1,63E-03 2,11E-04 1,03E-01 

Eutrophication potential (EP) 
kg PO4

3- 
eq. 

3,23E-02 2,93E-04 1,24E-03 4,91E-05 3,39E-02 

Formation potential of 
tropospheric ozone (POCP) 

kg C2H4 eq. 6,15E-03 5,22E-05 1,81E-04 8,78E-06 6,40E-03 

Abiotic depletion potential – 
Elements 

kg Sb eq. 9,75E-05 6,04E-07 3,82E-06 1,01E-07 1,02E-04 

Abiotic depletion potential – 
Fossil resources 

MJ 198 5,06 3,91 0,85 208 

Table 10 Environmental impact of SANDfuture 575 in prepainted aluminium 

 

 

  



 
 

 

   
 PAGE 11/22 

 

Use of resources 

 

SAND 20 in natural aluminium, thickness 0,7 mm, data referring to 1 m2 

PARAMETRO UNITA’ A1 A2 A3 A4 TOTALE 

Primary 
energy 
resources – 
Renewable 

Use as energy 
carrier 

MJ 12,3 1,13E-02 1,17E-01 8,30E-03 12,4 

Used as raw 
materials 

MJ 0 0 1,73E-03 0 0 

Total MJ 12,3 1,13E-02 1,18E-01 8,30E-03 12,4 

Primary 
energy 
resources – 
Non-
renewable 

Use as energy 
carrier 

MJ 111 1,44 7,86E-01 1,06 114 

Used as raw 
materials 

MJ 15,7 0 4,02 0 19,7 

Total MJ 127 1,44 4,81 1,06 134 

Secondary material kg 1,93 0 0 0 1,93 

Renewable secondary fuels MJ 0 0 0 0 0 

Non-renewable secondary fuels MJ 0 0 0 0 0 

Net use of fresh water m3 5,16E-02 2,32E-04 8,30E-04 0,00E+00 5,28E-02 

Table 11 Use of resources of SAND 20 in natural aluminium 

 

SAND 28 in prepainted steel, thickness 0,7 mm, data referring to 1 m2 

PARAMETRO 
UNITA
’ 

A1 A2 A3 A4 TOTALE 

Primary 
energy 
resources – 
Renewable 

Use as energy 
carrier 

MJ 14,9 2,94E-02 1,26E-01 2,44E-02 15,1 

Used as raw 
materials 

MJ 0 0 8,82E-03 0 8,82E-03 

Total MJ 14,9 2,94E-02 1,35E-01 2,44E-02 15,1 

Primary 
energy 
resources – 
Non-
renewable 

Use as energy 
carrier 

MJ 238 3,35 1,07 3,12 245 

Used as raw 
materials 

MJ 15,8 0 4,32 0 20,1 

Total MJ 254 3,35 5,39 3,12 265 

Secondary material kg 2,86 0 0 0 2,86 

Renewable secondary fuels MJ 0 0 0 0 0 

Non-renewable secondary fuels MJ 0 0 0 0 0 

Net use of fresh water m3 1,20E-01 5,75E-04 1,04E-03 5,58E-04 1,22E-01 

Table 12 Use of resources of SAND 28 in prepainted steel 

 

 

 

 



 
 

 

   
 PAGE 12/22 

 

SAND A55 P600 in galvanized steel, thickness 0,8 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Primary 
energy 
resources – 
Renewable 

Use as energy 
carrier 

MJ 18,7 3,72E-02 1,57E-01 4,37E-02 19,0 

Used as raw 
materials 

MJ 0 0 6,22E-03 0 6,22E-03 

Total MJ 18,7 3,72E-02 1,63E-01 4,37E-02 19,0 

Primary 
energy 
resources – 
Non-
renewable 

Use as energy 
carrier 

MJ 273 4,76 1,16 5,59 284 

Used as raw 
materials 

MJ 21,3 0 4,78 0 26,1 

Total MJ 294 4,76 5,94 5,59 310 

Secondary material kg 3,67 0 0 0 3,67 

Renewable secondary fuels MJ 0 0 0 0 0 

Non-renewable secondary fuels MJ 0 0 0 0 0 

Net use of fresh water m3 1,42E-01 9,72E-04 1,28E-03 1,14E-03 1,45E-01 

Table 13 Use of resources of SAND A55 P600 in galvanized steel 

 

SAND 153/870 in galvanized steel, thickness 0,8 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Primary 
energy 
resources – 
Renewable 

Use as energy 
carrier 

MJ 21,1 3,32E-02 1,87E-02 2,37E-02 21,2 

Used as raw 
materials 

MJ 0 0 1,33E-02 0 1,33E-02 

Total MJ 21,1 3,32E-02 3,20E-02 2,37E-02 21,2 

Primary 
energy 
resources – 
Non-
renewable 

Use as energy 
carrier 

MJ 306 4,25 6,95E-01 3,03 314 

Used as raw 
materials 

MJ 22,0 0 7,35E-02 0 22,1 

Total MJ 328 4,25 7,68E-01 3,03 336 

Secondary material kg 3,78  0 0 0 3,78 

Renewable secondary fuels MJ 0 0 0 0 0 

Non-renewable secondary fuels MJ 0 0 0 0 0 

Net use of fresh water m3 1,76E-01 8,68E-04 2,99E-04 6,20E-04 1,77E-01 

Table 14 Use of resources of SAND 153/870 in galvanized steel 

 

  



 
 

 

   
 PAGE 13/22 

 

SAND 105/1100 in prepainted steel, thickness 1 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Primary 
energy 
resources – 
Renewable 

Use as energy 
carrier 

MJ 19,6 3,27E-02 1,85E-02 2,34E-02 19,7 

Used as raw 
materials 

MJ 0 0 1,31E-02 0 1,31E-02 

Total MJ 19,6 3,27E-02 3,16E-02 2,34E-02 19,7 

Primary 
energy 
resources – 
Non-
renewable 

Use as energy 
carrier 

MJ 286 4,18 7,60E-01 3,00 294 

Used as raw 
materials 

MJ 17,4 0 7,26E-02 0 17,4 

Total MJ 303 4,18 7,60E-01 3,00 311 

Secondary material kg 3,74  0 0 0 3,74 

Renewable secondary fuels MJ 0 0 0 0 0 

Non-renewable secondary fuels MJ 0 0 0 0 0 

Net use of fresh water m3 1,53E-01 8,55E-04 2,95E-04 6,13E-04 1,55E-01 

Table 15 Use of resources of SAND 105/1100 in prepainted steel 

 

SANDfuture 575 in prepainted aluminium, thickness 0,7 mm, data referring to 1 m2 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Primary 
energy 
resources – 
Renewable 

Use as energy 
carrier 

MJ 18,7 4,02E-02 2,45E-01 6,75E-03 19,0 

Used as raw 
materials 

MJ 0 0 1,25E-02 0 1,25E-02 

Total MJ 18,7 4,02E-02 2,57E-01 6,75E-03 19,0 

Primary 
energy 
resources – 
Non-
renewable 

Use as energy 
carrier 

MJ 194 5,15 4,22 8,65E-01 204 

Used as raw 
materials 

MJ 16,7 0 4,30E-02 0 16,8 

Total MJ 211 5,15 4,26 8,65E-01 221 

Secondary material kg 1,93  0 0 0 1,93 

Renewable secondary fuels MJ 0 0 0 0 0 

Non-renewable secondary fuels MJ 0 0 0 0 0 

Net use of fresh water m3 8,69E-02 9,14E-04 5,43E-03 1,54E-04 9,34E-02 

Table 16 Use of resources of SANDfuture 575 in prepainted aluminium 

 



 
 

 

   
 PAGE 14/22 

Waste production and output flows 

 

SAND 20 in natural aluminium, thickness 0,7 mm, data referring to 1 m2 
 

Waste production 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Hazardous waste 
disposed 

kg 1,70E-02 8,35E-07 9,97E-07 6,14E-07 1,70E-02 

Non-hazardous waste 
disposed 

kg 1,75 1,23E-01 1,28E-01 9,01E-02 2,09 

Radioactive waste 
disposed 

kg 2,01E-04 9,79E-06 4,82E-06 7,20E-06 2,23E-04 

Table 17 Waste production of SAND 20 in natural aluminium 

 

Output flows 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Components for reuse kg 0 0 0 0 0 

Material for recycling kg 0 0 1,01E-01 0 1,01E-01 

Materials for energy 
recovery 

kg 0 0 0 0 0 

Exported energy, 
electricity 

MJ 0 0 0 0 0 

Exported energy, thermal MJ 0 0 0 0 0 

Table 18 Output flows of SAND 20 in natural aluminium 

 

  



 
 

 

   
 PAGE 15/22 

 

SAND 28 in prepainted steel, thickness 0,7 mm, data referring to 1 m2 
 

Waste production 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Hazardous waste 
disposed 

kg 2,34E-03 1,94E-06 1,67E-06 1,81E-06 2,35E-03 

Non-hazardous waste 
disposed 

kg 1,97 2,62E-01 1,33E-01 2,65E-01 2,63 

Radioactive waste 
disposed 

kg 9,52E-04 2,27E-05 6,34E-06 2,12E-05 1,00E-03 

Table 19 Waste production of SAND 28 in prepainted steel 

 

Output flows 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Components for reuse kg 0 0 0 0 0 

Material for recycling kg 0 0 1,01E-01 0 1,01E-01 

Materials for energy 
recovery 

kg 0 0 0 0 0 

Exported energy, 
electricity 

MJ 0 0 0 0 0 

Exported energy, thermal MJ 0 0 0 0 0 

Table 20 Output flows of SAND 28 in prepainted steel  

 

 

  



 
 

 

   
 PAGE 16/22 

 

SAND A55 P600 in galvanized steel, thickness 0,8 mm, data referring to 1 m2 
 

Waste production 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Hazardous waste 
disposed 

kg 3,37E-03 2,76E-06 1,67E-06 3,24E-06 3,38E-03 

Non-hazardous waste 
disposed 

kg 3,75 4,05E-01 1,34E-01 4,76E-01 4,76 

Radioactive waste 
disposed 

kg 1,13E-03 3,23E-05 7,00E-06 3,80E-05 1,21E-03 

Table 21 Waste production of SAND A55 P600 in galvanized steel 

 

Output flows 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Components for reuse kg 0 0 0 0 0 

Material for recycling kg 0 0 1,01E-01 0 1,01E-01 

Materials for energy 
recovery 

kg 0 0 0 0 0 

Exported energy, 
electricity 

MJ 0 0 0 0 0 

Exported energy, thermal MJ 0 0 0 0 0 

Table 22 Output flows of  SAND A55 P600 in galvanized steel 

  



 
 

 

   
 PAGE 17/22 

 

SAND 153/870 in galvanized steel, thickness 0,8 mm, data referring to 1 m2 
 

Waste production 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Hazardous waste 
disposed 

kg 4,33E-03 2,46E-06 1,64E-06 1,76E-06 4,34E-03 

Non-hazardous waste 
disposed 

kg 4,03 3,62E-01 1,03E-01 2,58E-01 4,75 

Radioactive waste 
disposed 

kg 1,22E-03 2,89E-05 3,30E-06 2,06E-05 1,28E-03 

Table 23 Waste production of SAND 153/870 in galvanized steel 

 

Output flows 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Components for reuse kg 0 0 0 0 0 

Material for recycling kg 0 0 9,30E-02 0 9,30E-02 

Materials for energy 
recovery 

kg 0 0 0 0 0 

Exported energy, 
electricity 

MJ 0 0 0 0 0 

Exported energy, thermal MJ 0 0 0 0 0 

Table 24 Output flows of SAND 153/870 in galvanized steel 

 

  



 
 

 

   
 PAGE 18/22 

 

SAND 105/1100 in prepainted steel, thickness 1 mm, data referring to 1 m2 
 

Waste production 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Hazardous waste 
disposed 

kg 3,71E-03 2,42E-06 1,62E-06 1,74E-06 3,72E-03 

Non-hazardous waste 
disposed 

kg 3,86 3,56E-01 1,03E-01 2,55E-01 4,57 

Radioactive waste 
disposed 

kg 
1,17E-03 2,84E-05 3,26E-06 2,04E-05 1,22E-03 

Table 25 Waste production of SAND 105/1100 in prepainted steel 

 

Output flows 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Components for reuse kg 0 0 0 0 0 

Material for recycling kg 0 0 9,30E-02 0 9,30E-02 

Materials for energy 
recovery 

kg 0 0 0 0 0 

Exported energy, 
electricity 

MJ 0 0 0 0 0 

Exported energy, thermal MJ 0 0 0 0 0 

Table 26 Output flows SAND 105/1100 in prepainted steel 

  



 
 

 

   
 PAGE 19/22 

 

 

SANDfuture 575 in prepainted aluminium, thickness 0,7 mm, data referring to 1 m2 
Waste production 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Hazardous waste 
disposed 

kg 1,82E-02 2,98E-06 1,78E-05 5,01E-07 1,82E-02 

Non-hazardous waste 
disposed 

kg 2,63 4,38E-01 2,13E-01 7,36E-02 3,35 

Radioactive waste 
disposed 

kg 3,38E-04 3,50E-05 1,20E-05 5,88E-06 3,91E-04 

Table 27 Waste production of SANDfuture 575 in prepainted aluminium 

 

Output flows 

PARAMETR UNIT A1 A2 A3 A4 TOTAL 

Components for reuse kg 0 0 0 0 0 

Material for recycling kg 0 0 9,30E-02 0 9,30E-02 

Materials for energy 
recovery 

kg 0 0 0 0 0 

Exported energy, 
electricity 

MJ 0 0 0 0 0 

Exported energy, thermal MJ 0 0 0 0 0 

Table 28 Output flows of SANDfuture 575 in prepainted aluminium 

 

.



 
 

 

   
 PAGE 20/22 

 

Additional information 
 

The analyzed products are made of metal and can be recycled at the end of life. 

 

In the LCA study the variation of the global warming impact was analyzed according to the thickness 

of the various products on the modules A1-A3; the results are as follows: 

  
Figure 2: Trend of global warming with varying 
thickness for SAND 20 - natural aluminium 

Figure 3: Trend of global warming with varying 
thickness for SAND 28 - prepainted steel 

  
Figure 4: Trend of global warming with varying 
thickness for the SAND A55 P600 - galvanized 
steel 

Figure 5: Trend of global warming with varying 
thickness for SAND 153/870 - galvanized steel 

  
Figure 6: Trend of global warming with varying 
thickness for SAND 105/1100 - prepainted steel 

Figure 7: Trend of global warming with varying 
thickness for SANDfuture 575 - prepainted 
aluminium 

 

 

 

.



 
 

 

   
 PAGE 21/22 

 

Bibliography 
General Programme Instructions of the International EPD® System. Version 2.5. 

 

PCR CONSTRUCTION PRODUCTS AND CONSTRUCTION SERVICES, 2012:01, VERSION 2.32”, 

valid until 31/12/2020. 

 

LCA study of corrugated sheets for roofing and covering corrugated sheets for dry and collaborating 

structural slabs, corrugated structural sheets for large lights, metal roofing with draining joint, rev.3 of 

22/07/2020. 

 



 

    
                    

www.environdec.com 
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.environdec.com 


